1) 220@%a, BLE L, OB a, BHEL
BEETa+ >0, af>0 LAMTHZ. kot

D>0, —2k—6)>0, Ek+3>0
D>0kb
B —Tk+6>0, k<1, 6<k

@ 20o0f%a, BEELL, CO&Hita, BHELR
ZEETa+ >0, af >0 LAETSHZ. Lo
D>0, =2k>0, E+1>0
D>0&b
1-/5 1+ /5

2_ph—
B—k-1>0 k< — 5

<k

9 FROEH - HEEH (P 38~P 41)
OWERE (P 38 ~P 39)

1) A@ = Ba)Cw) + D)
2 Bz—2 &bh—22+9

=3+ 2 +5=(@ —2+2)x—2)—
B W2r+1, £ho

2+ 5 —dx+6=(2+22—3)2x+1)+9
@) B2+z—1, &bh—3x+7

1‘+xz+x+4=(x2—1+3)(11+1—1)—3x+7
B) Mz2—1, £b—10x+2

=28 =8+ 1=(— 2+ 1)x2— 1) —
210 3 (@ 4 @B s @)
[AEER]
1) P—12—1+4
@) 29—3.22
B (=3P+2-(—
@ 3*—6-3+2
(B) 2¢—1
I_I"'

2r+9

10x + 2
-79 (B6) 15

3P—5-(=3)

3w P() OFETIE R
T+ 1 Plx) DR TH 2
@ z+2- PR)DEKTH B
z—3 Plx) oORKTH 3
8 z—1- Px) DEKTIRE
x— 2 Plx) DRETIE W
@) z+2- Pl) OESTIEAR
=3 Plr) DEHKTII AW
(#2551
(1) P)
P(—

1=6==8%0

(1P +2+ (== 5+ (1)~ 6=0

(=2 —7-(-2)-6=0

3) —7 3—6=0

1) cPP—=5=—6+0

2)=2—2 2 —5=—-5%0
2)=(—2F—4- (2P —2-(-2)+6=58+0

3)=3"—4- F—23+6=—27+0

OEEEEA (P 40)

1) Py =@+2—2)Q@) + 50 -7

@ P@)=@—z+4)QQ) — 2z + 4

B BWx+2, &KH—s52+11
x3+5x2—x+7=(x2+3x—2)(x+2)—51+11

4 Wx—1, £b6r+5s
r‘—2:c2+4x+8=(11—x—3)(x—1)+6x+5

P+2-12—5-

I\)»—-
-~

[
"U
"
=W

~

(=
(
(
(
o

"U"U"U"'U

20 —2
[AeEH]
I P+12—-1-—3
@ 2+2.22—5
B (=1 +(-1P—(-D+1

@2 n 3 2 @) 10

@ (—2P+3-(—22—(—2)+4
(1) x+1- Pl) DR TR0
x— 2 Plx) DR TH 3
@ x+2- P@)ORETH 3
x+3 - Plx) DA% TH 3
(3) =3 P) OEFTIZ R
x+4 - Plx) DREKTH 3
[R&5]
(1 P(=1)=(=1P+2(=1P—13+(=1)+ 10
=24%+90
P(2)=22+2+22—13-2+10=0
2 P(=2)=(—20+6-(— 2P+ 11-(=2)+6=0
P(=3)= (=3P +6-(—3R+11-(—3)+6=0
@B PBY=3+5-3—2-3-24=4220
P(—4)=(—4P +5+ (=4 — 2+ (=4)— 24 =

OBERFIEB (P 41)
() #@2+2-3 £b3+6
1“+313+12—x=(:t1+21+2)(xz+1—3)+3x+6
@ Br+x+3, &b3x—10
J:“+512+31—l=(12—x+3)(12+x+3)+31—10
B Wr+x2+2x+2, £ 5z
x5+f+3x—(xz—z(f+xz+2x+2)+51
20 Pr)=2+222—z2+1
2 P)= Zx‘+912+2.t+9
(3) P(x)=62+ 522+ 13x + 1
(#3581
1) P@y=@+3)2—z+2)—5
@ P)=@+3z—1)2x+3)— 5z + 12
B P@)= (22 +3z+3)(3x—2)+ 10z + 7
3 1 @ 70 3 o @ o
[AR5:]
) (—1F = (=10 + (—17
2 3*—2-324+7
@ (—1r+(—1pr=1—1
@ 1"—1-2=1—

40) a=1,

[Rgs:]
2 P(x) = {x -{1-

-2, 3 @2

a=1x/7, 225

/= -1+ /7))

e 25— 2245

10 AROEM - HEEBOIER (P 42 ~P 45)
OmBEEA (P 42~P 43)

1) a=—2 @ a=-11, b=12
[ARsR]

() PRQ)=22—3-2+4a=90

@ Pl)=1P—2-12+a-1+b=0,



P(—3)=(—3P—2(—32+a-(=3)+b=0&D
a+b=1 —3a+b=45
20 3z+1 @) 4x—2
(3t
(1) k20 iEar+beBITS. e Q) LB L,
P@)=(x— 1)a—2)Qa) +ax+b
F&OFEBICLD P(1)=4, PQ)=TED5,
a+b=4, 2a+b=1
@ kozr&bhldar+bEBTS. HrQu LulL,
P(z) = (x + 1)z — 3)Qx) + ax + b
FLOEMIC LY P(—1) = —6, P(3)=107»5,
—a+b=—6, 3a+b=10
30 @— & —2)z—3) @) @ — )z — 2)x+6)

40 1| 1 1 2 —4

1 2 4

1 2 4 o
Prr+2r—4=@— )& +2x+4)

2 —-2| 1 3 4 2

-2 —2 -4

1 1 o[ -2

P43 +ar+2=(+2)@+xr+2)—2

OREA (P 44)

T() a=—4 @ a=-3
8 a=-—10, b=38 @4 a=—4, b=6
Azl
1) P(h=1*+2-1*+1+a=0
@ P(=l)=(—1P+a- (-1 —=3(-1)+1=0
@B Pl)=1+1+a-1+b=0
PQ)y=22+22+a*2+b=0
X a+b=-2 2a+b=-—12
@ P(—1)=(—1F+a- (m1F+(-1)+b=0
P3)=3+a-3+3+b=0
b a+b=2 9a+b=-30
2(1) 2+7 @ 6x—5 (3) 3z+4

[#ga1]
(1) kwaskbida+bBTs. ME Q) EBCL,
P@) = (x + 1)z — 2)Q) +ax + b
FLOERIC LD P(—1) =5, P2)=117E»5,
—a+b=35 2a+b=11
©) kor&Didar+bEBTE. TWE QR LB L,
Pa) = (z — )z — Q) + ax + b
F&OEIMC LD P(1) =1, P4)=197»5,
a+b=1, da+b=19
3) RKHBEDIFaxr+bEBITS. HZ Q) LB E,
Plx) = (x + 2)(x + 3)Q) + ax + b
FLDEHIC X b P(—2) = —2, P(=3)= —57»5,
—2a+b=-2, —3a+b=-5
30 @—Dz—3a+4 @ @+ Dx—2)ax—4)
B) & — 2)x + 3)x + 5)
40) 1l 1 -3 4 -2
1 —2 2
1 -2 2| o
P32 +dx—2=@— 1) 2x+2)

2) 2l 1 2 =7 -2
2 8 2
1 4 | o

4o —Tx—2=(xt—2)@+dx+1)
3 -3 1 2 -2 4
—3 3 -3

1 -1 ] 1
Pramd—2r+4=(@+3)a*—xz+1)+1
OWERIREB (P 45)
J() a=-5, b=-3 @ a=4, b=—4
3 a=5 b=—4
[#3t]
(1) P)=1P+a-1*+7-1+b=0
PQ)=2+a-22+7-2+b="1
Ybh a+b=-8, da+b=—23
@ PR)=22—3-22+a-2+b=0
Pl)=1—31*+a*1+b="2
kh 2a+b=4, a+bh=0
@B PR)=2+a*22+3-2+b=30

P(=3)= (—3F +a- (=3P +3+ (-3 +b=5
kb da+b=16, 9a+b=41
20 -1 (2) 4x+3

(g3t
1) koz&bidar+b B3, HE Q) EBE,
P(z) = (22 — 6z + 8)Q) + ax + b
=(x—2)x—4)Qk) +ax+b
F&OEMC & b P2) =3, P4)=17E»5,
2¢+b=3, da+b=17
@) kodsEDiZar+bBITS, HZ Q@) EBE,
P(x) = (& — 22 — 15)Q(x) + ax + b
=(x+3)x— 5)Qk) +ax+b
FAEOEIMIC LY P(—3) = —9, P(5)=237»5,
—3g+b=—9, Sa+b=23
31) a=7 b=-6 2 a=—4, b=3
[t
(1) 7% Q@ 8L
Lra+5c+d
= (g —x— 2)Q) + 15z + 10
= (z + 1)x — 2)Q(x) + 15z + 10
fdice=—1, x=2%RALT
(—1P+a+(—1p+5- (=) +b=15-(=1)+ 10
PVrag-22+5+2+b=15-2+10
a+b=1, da+b=22
[RUfR) Faid 1 KU T OREDS, pr+q EBT S,
Prar+5r+b=@—x—2pr+qg + 150+ 10
iR S, BRI L CRELLE. » = IS I
bhBEDTHRE s +ERELBVRTH XV,
@ ®%EQE Bl
2+4+axr+b
=@ —x— 6)Q) + Tx + 33
=(x + 2)(x — 3)Qx) + Tx + 33
mdiczr = —2, 3ERALT
(—2)’+4~(—2)2+a-(—2)+b=7'(—2)+33
P+ 4:32+g-3+b=7-3+33



v —2a+b=11, 3a+b=—9
[FIfE) % pxr + g (if-c;tx+k) EBHE, (DEA
KROBIEI D 2,

41 o

@ r+1)+z+1)
(a1
¢ () P(—%):Z-

2o e ()

@ P@) it x+ % THEOY YN »s, BT L

P(x) = (x + %)(212+ 2z + 2)

11 @RAEX (P 46~P 51)
ORERIE (P 46 ~P 49)

J() x==1, +i @ z=x/5, +i
[#g5%]
(1) 22==+1
@2 2=-1, 5

20 z=1, ZEMB g Ly
[Rest]

1) @—1)@+z—13)=
@ E+1@+2)=0

30 z=1, -2, #
@ xz=1, 2, +i
[RsR]
1) @—a+2)a+z—-1)=
@ -a—-2)@2+1)=0

40) 2mp @ 3=m
50) w @ o
[R&34]

(1) wl = ot = (ws)z cw

@ wi=wM=wkbh, GER)=w+wi+]

61) a=11, b=—12, OBz —2
@) a=—15 b=—1s, ffﬂ@ﬁh:%
B a=—-23, b=—35 feoffx=—7 qt 4
@ a=-9, b=—40, LDz =4 |+;L
[RZERT
1) F@=r+22—ax+bEBL L
f=1)=0, f3=0kh

{a+b=—l
3¢ —b=45
INnkh a=11, b=—12
&oT
x3+212—111—12=(x+1)(x—3)(x+4)
@ f@)=22—2+ar—brBLE
F@)=0, f(-3)=04kb
{2a—b=—12
3a +b=—63
kb a=—15 b=—18
&oT

21‘3—3:2—15x+18=(z—2)(x+3)(2x—3)
B 2—iZRALTENTS L
(I1+2¢—8)+(—=23—a)i=0
Ihid a=—23, b=-35
&oT
a:‘+3xz—23.'r+35=(x+7)(x2—4x+5)
@ 1-3i2RALTHIT 2L
{22—2a+b=0

54+ 62=0
INED a=—9, b=—40
£oT
2= 6r' + 180 — 40 = (x — 4)x2 — 2z + 10)
7)) 14 @ -8 ® 3
(&1

a+ B+ y=-2 aB + By +ya=-5, afy=—2
(1) @+ B yi=(a+B+yP—2aB + By + ya)
=(—2P—2+(—5) =14
@ (a+1)(B+1(y +1)
=aBy +(aB+By+ya)+

(x+B+y)+1

ap+Pytyr _ s

1,1
B S+ + By =

1
o BT
OBBEZEA (P 50)
J() z==2, +2i
@ z=+1, +/3i

@ z=2x/3, +/2i

[AR%1

() 22=24

@2 =3, —2

B =1, —3
20) z=1, -11/3 @ z=2 -1, —5
@ z=1, Iifi @) x=2, —1x;

[R&]

) G- +22—2)=0

@ T+ Dx—2)x+5 =0

B t-1nar-z+2)=0

@ -2 +22+2)=0
FW) z=-2,1, -12/2 @ z=+1, —2, 3
@ z=-1,212/3i @) z=1, —3, +2

(#8341
1) @=Da+2)a2+20—1)=0
@ -+ z—3)x+2)=0

@) @+ 1)@—2)@— 2x+4)—0

@ (x— 1)@+ 3)@%+ 4) =
40 2mmw 2) IT(M Q) 3=:m
501 z=1, 2 @ z=2 —3

[A&sH]

1) @—1z—2)=0

@ @—2¢+3)=0
601) w2 @ 1 @ o @ -1 B -1

[#e8t]



1) w?®=w*?= (W + w?

@ w®=(w)?

@ wi+wtl=wtwt+l=wrwtl

@ w+ow=w"+w=w+w=w+(-w-l)
(5) w50 + wZS = w43+2 + w 24+ = (wB)IG . w2 + (wS)B - w

=w+w
70 a=3, b=6 faofr=3
@ a=13, b=0, fDfFEx=0
[zt
(1) x=1%2RALT 2a—b=—1 - 0
r=—2%fRALT da+b=16 - ®

O, @kh a=3,b=6

ZDEELEDIRAR
2—2—52+6=0
@E—Dz+2x—3)=0

@ xz=2-3%2fRALT
(—26 +2a +3b)—3@—13)i =0

{2a+3b=26 ------ ©)
ga—13=0 o @
@, @kh a=13 b=0
TDLEHEDIRAR
2 =4+ 13x=0
x(x? — 4z + 13) =

OERiRIREB (P 51)
_—1x/5 1£/5
] g= St 5
) x=—1¢2ﬁi‘ 115/71'
[l g
1) »#—3+1=@—12—2
=@+z— 1 —z2—1)

@ 2+3+4=0+20— 2
=@+x+2)@®—x+2)

20 P(%)=2°(—%->3+3-<%>+4-7—3=0

@ P iz-+ cHvInE.
P2 = (x-—)(z:=+4x+6)

= (22 - D22+ 2z + 3)
30 2 @

2cm

(1) kozERFEzEBE, 2=32+2
2—32—2=0, @+ 1) x—2)=

T REAREOZ x = —1 1FFE.

(@) 1Wzem OEAHET OIS &30, KD BFH

i

(16 — 22) « (10 — 22) - x = 144
£—132+40r—36=0, x—2x—9)=0

0<x<5&bh, x=2

4(1) (¥ = ws=(wW)=1=
RTH5.

@ P—1=@—-D@+z+ )5, wida?+z+1=0
OmTHD, w=1TERUPS, w b +x+1=0D
BTH5. w=wtTBE,w=01LRDFETEPO,
wrw 3BERD, fEoTw, WAL +z+1=0D22D
BThs.

PEms e —1=00M@E]l, w, w2 TH5.

501) wr+w+1=0kb, w=—-w—1

W=wrw=(—w—1)w="w-w
w—1)—w=1
(R : 2 — 1=(x— D@ +x+1)%FHE]

@ REFBHOMEDIS, ww' =1=w’

w*0EH S, L2 wTHE, o =w?

1wz, widr—1=0D

£ ] —(—

12 fE%R (P 52~P 57)
ORRRIE (P 52~P 54)

J() 7F3)=—3*+4-3+3=6

(=3)= —(—3P+4-(=3)+3=—18
)= —a*+4a+3
1H=2-1>—4- 12+3+1—1=0
(=2)=2-(—2P —4- (-2 +3"-
P— 4 +3b—1
222—3+2+2=4

@
(—2)—1=-39

(=2 —3-(—2)+2=16
c(—ap—3-(—a)+2=2+3a+2
6, c=—3 2 a=2,b=0 ¢=3
@ a=2,b=1, c=1

2 |\

a+Qa+bx+@+b+c)=2"+4x+5
ar* + (—4a + b)x + (4a — 2b + ¢) = 22°
@ (a+bx2+ (—2a+2bx+(@+b+c)
=322 —2x+4
G) 2a—b=0, b—c=0, c—a+1=0
B (@+b+ex+(—a+cx—b=2x+1
301) a=2, b=l @ a=3, b=2
@) a=5 b=—1
[#&t]
(1) @ @— 1)2x—3)2»iIT
5t —7=a(2x—3)+bx—1)
@) TR (2 — Dz —3) 22T
—x—T=alx—3)—b2x—1)
(3) W (3x — 2)(2x — 1) #»TT
72 — 3 =a(2x — 1) + b(3x — 2)
OERMASEA (P 55 ~P 56)
I f(2)=3-22—2-2+5=13
(=) =3-(-1p=2-(=1)+5=10
(a—3a2—2a+5
(3)=3*—2-32+4" 3—3=18
(—=2)=(—2P =2+ (2P +4-(—
(b)=v —2b*+4b—3

f

@ r
f 2)—3=—27
f



(
g(=1)= =2+ (=1P+4-(~1)—3=—9
g(=a)=—2+(—aP+4-(—a)—3=—24"—4g — 3
@ g(2)=4-22—5-22—2-246=14
g(=3)=4+(=3P —5:(=32—2-(—3)+6 = —141
g(=b) =4+ (=bF —5-(—bF—2+-(—b) +6
= —4P — 52 +2b+6
B fy=2-12—4-1+2=0
f(=2)=2-(—2—4+(—2)+2=18
20) a=2 b=3 @ a=2 b=2 ¢c=3
B a=2, b=0 @) a=3, b=0
B a=5 b=1, c=4 6 a=1, b=4, c=4
(7 a=—1,b=2 ¢=5 (8 a=8 b=4, c=2
© a=1,b6=1,¢=-6 () ¢=2 b=—1, ¢c=3
W a=1,b=-2c¢c=1 (9 a=2, b=2, ¢c=—13

13 a=-3 b=%
[R&H]
B @+bx+(—2a+3b+2)=2r—2
ar+(—a+3)=(3+bx— 2b
a—2=3, b=2b—1, ¢c=4
2¢+1=3, 3=bp—1, b=¢
2a=—b, 5=¢, 2b=a+c¢
(9) ar’ + (—da+ b+ (da— 2 +c)=x2—3r—4
ar+ 2a+bx+(@+b+c)=2022+3r + 4
ar+ (2a+bx+@+b+c)=2x
(a+b)x3+(—4zz+4b)x+(4a+4b+c):4xz+3
PH(—2+axr+(@+2)=22—5—2
30) a=2, b=1 @ a=1, b=3
@ a=1,b=5 @ a=2 b=2
[#&31]
(1) B (22 — 1)z — 2) #20F T
—3=alx—2)—b2x—1)
2) M (x — 4)(3x — 5) B HiFC
7=a(3z—5)— blx — 4)
(3} M (x — 53z — 4) MU T
8t —29=a(Br — 4)+ bz — 5)
@ P (x— 6)(3x — 2) BT
dr+8=a(3x—2) — bz — 6)
OERHEZEB (P 57)
1) a=0, b=1
[R23t1
1) ©—622+13x—4

@ a=0, b=0 3 a=2,

=1’+(a—6)xl+(—4a+b+12)x'+(4a—2b—2')

@ Z+a’+4r—5=2+@+br—>5

B ®+52+7x—4
=r+@+3)+(a

2() a=10, b=2, ¢=—

@

+b+2)x—4
10

. =4 ._2
a = 2,b—3,‘c—3

B3 a=5 b=0, c=—5
[A3%]
48]

(2)

r=1, 2, 3%#{{A.
x=0, —1, 2 %2RA.

‘ B z=0, —1, 1 &/RA.
30) a=6, b=11, c=¢

1 @ a=1,b=7 ¢c=6 d=1

3) a=28,b=—%,c=19,a’=—

|
[A&s%]
M z=1, 2, 3%2KA.
| @ z=1 2 3%RA. E% 3 komEE ST 5
| d=1
\ @B x=1, 2, 3, 4 B/KA,
4 a=1,b=-15 c=25 d=—10, e=1

87
2

[#31)
T=0, =1, —2, —3ERA. ¥ 4 ROFHE Ll
ToLe=
50 x=-% y= 8 g ae s 40
=

(1) Qx—y+2%k+(x+29+4)=0
L 2x—y+2=0, x+2y+4=0
@ @+y—ak—(Qr+y+1)=0
T+y—4=0, 2r+y+1=0
\
13 EFRX0F (P 58~P 61)
OWEREE (P 58 ~P 59)
1a) ZEiﬂ=a2+2ab+b2+a3—2ab+b2=2(a2+b2)
=54
| 2) ZEiE=a’+3a2b+3ab1+b’—(az—3a2b+30b3—b3)
= 6a%h + 20° = 2b(3a> + b)) = 537
(B) 758 = (a> + ab + b)(a® — ab + b?)
= {(@® + 0% + abH(a® + b°) — ab}
=(a3+b3)2—azb2=a"+a2b3+b“=Eﬂ
@) 3 = (3a + 4b7 + (2a — 6b)
=9a2+24ab+16b2+4a1—24ab+36b1
= 13a® + 528
G = (3¢ — 4b) + (2a + 6bY?
=9a> — 24ab + 166> + 4a® + 24ab + 3652
= 13a* + 527
| 20) EB—AL =20+ ab—~ (@ — )b — o)
=c+act+be=cla+b+c)=0
c=—a—bp LD
@ —bc=a*+bla+b)=a+ab+ b
—ca=0+aa+b)=a’+ab+b
cC—ab=(@+bP—ab=a’+ab+
£2oT @ —be=0—ca=c"—ap
B c=—a—bkb
a3+b3+c3—3abc=a3+b-‘—(a+b)3+3ab(a+b)=0

|

@

b=3

3 FT=L-riBE a=bh c=db
sp_a+b _ bk+b R+ 1
‘ O x2 =47 bk 2
v_c+d de+d _ k+1
will = 55 e T Tk
© T =(a*+ ) b2+ d?) = (B2 k2 + d* k) (52 + )
=k2(b3+d1)1
il = (ab + cd)’ = (b*k + d* k) = B2(b2 + 42)?



